()

Ne ApTUKYN HanmeHoBaHue Kon
1 Maka M8 6
2 |KC55-10 WapHup 1
3 laiika M8 1
4 |KC26-04A TAra 1
5 laiika M8 5
6 LWariba 8x22x2 4
7 |KC30-05A MnactuHa 2
8 bont M8x55 4
9 bont M6x16 6
10 [KC30A-04A [Koxyx pemHA 1
11 [KC30A-07A [OrpaHuuuTenb pemHs 1
12 bont M8x20 2
13 |KC42A-03A |Oednektop B cbope 1
14 |KC55-24 JlonaTka 1
15 |KC55-15 LWainba 1
16 |KC26-11 Apantep 1
17 [KC26-14 LLlecTepHAa yepBAYHaA 1
18 |KC26-12 Ban 1
19 [KC26-15 ApanTtep 1
20 Wrnot 3x18 2
21 |KC26-16 Kpbiwka 1
22 [KC26-10A KpoHLwTenH 1
23 bont M8x16 3
24 Maka M8 3
25 |4LXP945 PemeHb 4LXP945 2
26 |KC30A-08 MNMpoknaaxKa 2
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




&)

/1

/]

92

Ne ApTUKYN HanmeHoBaHue Kon
1 |KC30-03C-01R |Pyyka npasasn 1
2 |KC30-03-02 (MaHenb ynpaBneHua 1
3 Manka M8 10
4 [KC30-03-44R [KpoHLWTENH ponurKa 1
5 bont M8x40 4
6 bont M6x20 2
7 |KC21-02-2 BTynka 2
8 |KC40-28 Ponuk 2
9 |KCA28-04-03 |depkaTennb pyyku 2
10 bont M8x45 2
11 |KC30-03-49 ([Tpocuk 2
12 Bbont M8x35 2
13 WnauHT 1.5%25 4
14 |KC30-03-09 [Pblvar xoga 1
15 larika M10 2
16 |KC30-03-2(M4) [PykoATKa pe3nHoBas 2
17 |KC30-03-11GGP [Pblyar ynpaBaeHus 1
18 [KC30-03-45 ([py*KnHa 2
19 [KC30-03-46 (Ban pblyara 1
20 [KCA28-04-04 |Pblyar npaBbii 1
21 |KC55-03-15 |Waliba pe3mHoBan 2
22 LWalba 8
23 bont M8x150 1
24 |KC30-03-47 |Cronop 1
25 |KC30-03-50 [|3axkum 2
26 [KC55-03-25A |Tonkatensb 1
27 |KC55-03-13A |Tonkatenb 1
28 |KC55-03-11 |[[Mpy»KunHa 1
29 BuHT M8x60 1
30 [KC30-03-48 |Ban pbiyara 1
31 3aknenka 4x10 4
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




&)

/1

/]

92

Ne ApTUKYN HanmeHoBaHue Kon
32 |KC90-04-04A |PyKoAaTKa c nogorpesom 2
33 [KCA28-04-10 |Pbiuar nesblii 1
34 bont M6 6
35 |KC55-03-05-6 |BTysika 2
36 [KC30-03-14 |MpoBoaa 1
37 |HY64 Bbikntouatenb 2
38 |KC30A-05-4 |TpocuK KO3bIpbKa 1
39 |KCD26-06-2 |[MpyxnHa 1
40 |KC30-03-44L |KpoHLWTEMH ponnKa 1
41 BuHT M5x35 2
42 |KC30-03-08 [Pbiuar BkA. anddepeHumana 1
43 Marika M6 1
44 LWaiba 6 1
45 bont 1
46 |KC30-03-05 |[KpoHLWTeMH pblyara 1
47 [KC30-02-06B [Tpocuk guddepeHumana 1
48 |KC30-03-32 |Pyuka 1
49 [KC30-03-31 (lWanba pesnHoBas 10
50 |[KC30-03-23 |[deprkaTenb 1
51 |KC30-03C-01L|Py4yka neBas 1
52 |KC30-03-22A |Mpusopg gednektopa 2
53 BuHT M6%10 2
54 [KC30-03-24 |Waiiba 6 2
55 [KC30-03-24 [MaHenb 1
56 bont M6x16 2
57 |[KC30-03-26 |[KpblwKa 1
58 Maka M6 2
59 |KC21-03-15 |[PoHapb LED 1
60 BuHT ST3.5%16F 2
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 3




Ne ApTUKYN HanmeHoBaHue Kon
1 Bont M10x25 2
2 |KC90-02-21A |Pydka 1
3 [KC55-02-25A [MnhacTtnHa pyyku 2
4 Bont M10x45 1
5 bont M6x12 4
6 |KC30A-02-30 |Ban 2
7 |KC30A-02-28 [KpblwKa 1
8 bont M6x20 1
9 [KCM24-02C-19 |KpOHLWTENH pOAMKaA 1
10 bont M6x12 4
11 |KC21-02-2 BTynka 1
12 [KC21-02C-01 [Tpocwuk 1
13 [KC40-28 Ponuk 1
14 laka M6 1
15 |KC30A-02-02 |bonT M8x20 1
16 [leTanb coegnHUTENbHAA 4
17 bont M8x40 4
18 |KC21-02C-03 [OcHoBaHue gsuratens 1
19 Maiika M8 4
20 |LC185FDS [suratenb Loncin LC185FDS 1
21 (3LXP870 PemeHb 3LXP870 1
22 |KC30A-02-03 |Wkus 1
23 [KC90-02-16 |WkuB 1
24 LWalba 1
25 |6561-03-18 |bonT M8x30 1
26 |KC30A-02-04A|Kopnyc TpaHcmmccum 1
27 bont M6x20 2
28 |KC30-02-12 |HaKOHEe4YHMK 1
29 |KC90-02-07 |[BTynka nnactukosas 2
30 [KC55-02-05 |Tara 1
31 bont M6x16 13
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 4




ApTUKYN

HanmeHoBaHue

Kon

32

KC30A-02-05

Kopnyc nogwnnHuKa

33

90-0415

MogwunnHmk 6200

34

KonbLo ctonopHoe

35

KC21-02-13

MoawnnHuk

36

KC30A-02-06

BTtynka 15x20x15

37

KC21-02-12B

JepKaTenb Ancka GpMKUMOHHOrO

38

KC30A-02-07

LWecTepHa

39

KC21-02-11B

LONCK GPUKUMOHHbIN

40

KC30A-02-08

BTynka 15x20x15

41

KC55-29

Cronop

42

KC30A-02-9

Ban wecTurpaHHbIi

43

KC30A-02-10-2

Ban npomeKyTouHbIN

44

KC30A-02-10-1

3Be3ao4ka 6osbluas

45

KC30A-02-11

3Be3404Ka Manas

46

KC30A-02-12

BTynka 12x15x8

47

085-32

Uenb 085-32

SN = IR N I PRV FEN PR TN P FN P I IS NN N

CHeroybopLmK

Mogenb

ST1176LE

Technical department Assemb

ly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




ApTUKYN

HanmeHoBaHue

Kon

48

16x4.80-8

MokpbiwKa 16x4.80-8

49

KC90-03-07

3a*KMMm Koseca

50

KC30A-02-13

[MNCK KonecHbin 8"

51

bont M6x16

52

KC90-02-11

Kopnyc noawmnHuka

53

larika M8

54

6205

MNogwnnHuk 6205

55

KC30A-02-14

BTynka 25x34x16

56

KC30A-02-15

OuddepeHuman B cbope

57

KC30A-02-16

Ban

58

LinoHKa 6x4x45

59

KC30A-02-17

BTynka 6poH30Basn

60

KC30A-02-18

Bunka

61

KC30-02-07

Xpanosuk

62

KC30-02-05

Mpy*KnHa

63

KC30-02-06A

Tpocuk anddepeHuymana

64

KC30A-02-19

BTynka 6poH30Ban

65

KC30A-02-20

Ban

66

KC30A-02-31

HakoHe4yHuK

67

LWanba

68

LWarba

69

KC21-02C-09

dukcartop

70

bont M8x30

71

KC55-02-21

Ponuk HaTaxkutena

72

KC30A-02A-4

KpOHLITEMH HaTaxutens

73

bont M8x45

74

KC30A-02A-05

KpOHLITEMH HaTaxutens

75

KC55-01-24

BTynka

76

KC55-01-27

Ponuk HaTaxkutena

77

KC55-01-26

LWainba

78

KC21-02C-13

LLKuB

[EEN RN JJECN UEQY FERN JUCQS JECY) JUCQ) JUCQS JUCQY ECQY FECQY JUENY [JECQN EENY JUENY JEENY JEEN) I JEEN NG EEN iR FEN PSR o N SN NN F SN SN I N)

CHeroybopLmK

Mogenb

ST1176LE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 6




Ne ApTUKYN HanmeHoBaHue Kon
79 Bont M6x20 3
80 |KC90-02-12 |Kopnyc noawmnHmKa 2
81 |90-0430 MoagwmnnHmk 6002 2
82 |KC90-02-15 |MpyKuMHaA HaTAXKMTENA 1
83 |KC30A-02-23 |KpoHLWTeMnH WKmea 1
84 [KC30A-02-24 |Btynka 13x20x20 1
85 Bont M8x16 2
86 Maiika M12 1
87 |KC21-02C-12 |MpyXMHaA HaTAXKMTENA 1
88 3aknenka 4x12 2
89 [KC30A-02-25 |MnactuHa 1
90 [KC30A-02-26A |KpbllKa HUXKHAA 1
91 [KC30A-02-27 |deTanb KpenaeHusA 1
92 Wrnot 1.5%25 1
93 |KC21-02C-17 |Mpy*unHa 1
94 |KC90-02-31 |Ocb 1
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 7




ApTUKYN HanmeHoBaHue Kon
KCA30-01-01A |JeKa 1
KC42-01-02 |M0on1030K NAacTUKOBbIN 2

LWaiba 6

Malika M8 19

KCA34-01-10 |[M0n1030K MeTananYecKkuis 2
Maiika M8 9

KC30-01-02 [MnactuHa aekun 1
bont M8x16 8

bont M8x18 6

KC42-01-05A |KpbiwkKa noawmnHmKa 2
SB205 MNogwwnnHuk SB205 2
KC42-01-04A |Kopnyc noglwmnHmKa 2
KCA30-01-02 |LLIHeK npaBblit 1
LWalba 4

3arnyuwka 2

KCA34-01-03 |MpobKa 2
KCA34-01-04 |bonT cpe3Hoit 8x42 2
KCA34-01-05 |PeaykTop 1
Maiika M6 4

LWaliba 4

KCA34-01-06 |KpblnbyaTka 1
bont M6x40 2

bont M6x30 2

KCA34-01-07R |KpOHLWTEWNH NpaBblii 1
KCA34-01-07L|KpoHwwTelH nesbli 1
KCA30-01-03 |LLIHeK neBblit 1
LWanba 2

bont M8x20 2

bont M8x20 4

bont M8x25 4

BuHT ST4.2x9.5-F 2

Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




ApTUKYN

HanmeHoBaHue

Kon

34

KC55-01-21

Le pXaTenb N0NaTkn

35

KC42-01-20

Kopnyc nogwunHuKka

36

SB204

MogwwnnHmnk SB204

37

KC42-01-22

ke

38

LWainba

39

Bont M10x25

40

LLinoHKa 6x20

41

KCA34-01-09

LLlanba nnactnkosas

47

KCA34-01-14

BTy/aKa pe3nHoBasn

48

KCA34-01-15

Konbuo aednekropa HUKHee

49

KCA34-01-16

Konbuo aedsiektopa meTtanimyeckoe

50

KCA34-01-17

dukcatop aepnekTopa HUKHUN

51

KCA34-01-18

®ukcatop aednekTopa BEpXHUI

52

Bont M8x20

WlR([Rr|lRr[,r|lw[NM]Rr|RR]R[RIN|[-

Mogenb

CHeroybopLmK

ST1176LE

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




Ne ApTUKYN HanmeHoBaHue Kon
1 |KC42A-03A-1A |JednekTop 1
2 [KC55-03-17 [Mpy*KuHa 1
3 [KC30A-05-2 [Mpy»kuHa 1
4 |KC30A-05-4 |Tpocuk 1
6 |KC30A-05-3 [Tara 1
12 Kosbipek 1
13 LWanba 1
14 [KC42A-03-4 (PeweTka 3aWwmTHaA 1
15 LWanba 1
16 WnanHT 2x16 1
Mogenb
CHeroy6opmK ST1176LE
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




